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TNOTE Attempt five questions in all, including Question No. I which is compulsory
@ and selecting two questions from each Unit.
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I.  Answer the following:-

a) Discuss the need for Opcode.

b) Give full form of RISC and CISC

¢) What is implied addressing mode?

d) List two ways of setting the priority of an interrupt.

e) Describe Associative memory in brief. (5x2)

UNIT -1

II. The operations to be performed with a flip flop F are specified by the following
register transfer statement:
xTq: PaSetF 1ol

yTy: Clear F to 0
zT,: Complement F
wTs: Transfer value of GtoF -
" Otherwise the content of F must not change. Draw the logic diagram showing the

connections of the gates that form the control functions and the inputs of the flip flop
F. Use J K flip flop and minimize the number of gates. (10)

Ill.  Compare and contrast hardwired controlled and micro-programmed control. (10)

IV.  Explain with examples 3 address, 2 address, 1-address and zero address instructions.

" (10)

UNIT - 1I
V. Describe in detail the working and need for DMA. (10)
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. organization of Cache memory. (10)
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What is the significance of Cache memory? Explain the three mapping procedures for

How will you define a Multiprocessor? Discuss different schemes available fo
establishing an Interconnection network. (10)
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